INWEAEIE D E?
=
.TE/gﬁﬁbng

WRARZE (RSBt h&EmEmzEit] )

SEHMRE (HEE=E10)
BWHRE GEES « T — A2
ERMAE EWFE - M55

SEMRE (BT HF - ESUIE)

C

=FRE GERETETIV)

PEPINE (HEERER « RO TOED)



HE o b DER

r]H'

HRDHRTRRELDSHDE
HWEMT 70 —FTRDOIF5 !
maximize: f(x) subjectto:x €S

HImMRE Software Modeii
BEILYIFIITEED .
2DHEHEHTNET

Algorithm

(MFEFEFEEREGEDERZEFIALT
TAHEENBBNIZISREYLYT

O O
o 2 X

O OO0 |
O QO O :Z\ E
O
O %

B k] (L TR E)

L& - Liu Tianxiang

(2)FWMERNYHTRTDa—)
BHFE CTFNREZ TALTERXERO&/MEIZRER

ﬁ =
"‘&"" =

A CEZEDRRREICHDEBEIC
EHEWEDICENY T

EREBEIETERICAESNTODIEMIFEFEZELRET

M

‘ﬁ:

%E MNoD /A XBRE

signal with noise

— original signal
— — recovery by sNPG ,

2 2
1 1 1
OJI ﬂ »o lﬂr—1
N &ﬂ . 4
2 3 P Ld

0 500 1000 1500 2000 0 500 1000 1500 2000

ST

= L




e EEEE CEEARE

!

Bl Zimic I P CRBEVMHAENDTE &a, w5, ) ZRDIFDZE

G mfMr arie
‘o ESTREE
m‘- um *|nl
o ]
D) A

FIRMAFRT—Y
BRIV T X LDOREEE & IR mAREE
HE B mE LD S Dt eEE DT
AN EF (CIRN DR DiE A

ATLHNGE - #RFE - 77)LTVUXLNG — LI - -



EAEE - O — LM (EHARE)
« B RS - 7L UL DR

« —AIBmEN (ZEOEAENUD) RIRE(CHIFTDIRMEDLAFE(CDULNTD
HEERAAZS, EESRIAIEm DD

HEE RO O RED
e R 56 a g ) > | EEEEFITURL
ZY X % /{Hgtéu%m)c
VX8R e 3 0

C
EEiagd: xep(h)nm
ZY X
[Z2¥X R m v F IR 5—=FILEICR
E% hR: 2 DEXEFTIL st 6DIA A+l R
F—O—R: YvF>oO0HERE, YhOAR, 57, TEMN, BEREMN, etc

MREEO(ESEHTY.
EREDOERAL, BIRBES O, 7ILTUXAGFHET, F2ITVET.



BWEE - AT (EFR0T

T—~ EmBNICHEENMRIEESN-FETIILTY X LD
« B D) TREBETFTABEDRREER i) EYhT —

X ESEREA T ORENEE:

daa
2 SOMS
+ LSDRF

latitude

ongtitude

7O X LFHE

Algorithm 1 Two-stage Kernel-pased estmator Witll INING.

Input: Training samples, and regularization parameters, A and 7.
Step 1: Find the kernel-based estimator fAby solving (1).
Step 2: Let us define fs(z) = /?(5 o z). Find the optimal garrote parameter {Aby solving

msinZ(fg) + )€l st €efo, 1%

Output: The estimator fg(z)
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unit vector with one in the i-th position and zeros otherwise. For f € Hy and & € (0,1)%, we have

fori=1,....d.
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Lemma 5. Let us consider the RKHS Hj. endowed with the PS kernel k. We define e; € R? as the
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Proof. We prove (6) for i = 1. The equation (5) is similarly proved. Suppose that f(z) = ), caz™

with Y,

we have
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